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5.1  
3

3 2
2

xy 8
= 5xy =8+8y (1)

51+y
⇒  

�.!.�&��� #�0�2������� &"��! "�t : 
3

3 2
2

dx
5 ydx dy dy dy dt5 y +15xy =16y =

dt dt dt dt 16y-15xy
⇒ ⇒  

õ�&"�)2.�� dx
x=1, y=2, =6

dt
��$ #�0��  

3

2

dy 5(6)(2) 60
= = -

dt 716(2)-15(1)(2)
 

ñ!.�2 �y��0�+�02.���0�!#��)� 60 � ��/0"
sec7

 

 

5.2  3 2 3y= x +17 y =x +17 (1)⇒  
�.!.�&��� �2."�2������� &"��! "�t : 

2
2

dy
2ydy dx dx dt2y =3x =

dt dt dt 3x
⇒ ⇒  

2

x=2 y= 8+17= 25=5
dy dx 2(5)(2) 5

=2 ñ!.�   
dt dt 33(2)

⇒
 

ñ!.�2 �x�.#���02.���0�!#��)� 5� ��/0" sec3
 

 
 

5.3 �!��&��� ( ) 2�f(x)= tan x-x, x 0, f  (x)=sec x-1 (1)2 ′∈ ⇒  

+�.����0� ( )�x 0, 2∈ �$ #�0��  
2

2

1
0 cos x 1 0 cos x<1 1 (2)

cos x
< < ⇒ < ⇒ >  

( )�(1), (2) f  (x)>1 x 0, f(x)2′⇒ ∀ ∈ ⇒ .*� #1.�12 � ( )�0, 2  

�#�0�+"� ( ) ( )� �f(x)>f(0) x 0, f(x)= tan x-x x 0,2 2∀ ∈ ⇒ ∀ ∈  

( )�tan x>x, x 0, 2∀ ∈  

 
 
 
 
 
 



5.4 (i) f(2)=4, f  (2)=0, f  (x)<0, x R′ ′′ ∀ ∈     (ii) f(2)=4,f (2)=0, f (x)<0 )2.� [��′ ′′  
	 �1��0� ���� ��� 0��.��2 ���)�����12 ����������������� �.�� f  (x)>0 )2.� [!�′′  
���������������������������������������������������������������������������� 	 �1��0� ������� 0��.��1��0� ��.���" 
 
 
 
 
 
 
 
 
 
(iii)

x 2 x 2
f(2)=4, f  >0 )2.� [ � �.� OLP I��[� �� � OLP I��[� = +

+ −→ →
′′ ′ ′≠ ∞ ∞  

                                          
 
 
 
 
 
 
 
 
 

5.5  ( )1- ,42 �2 ���)�.�!)2.2 �2�"� 2 1f(x)=x + +.[�Ex  

2
1f  (x)=2x- +.

x
′  

( )
( )

1 231f - =4 b- . 2 2 4
1f  - =0 . �2

⇒

′ ⇒
         

33
b=

4
. �

 

 
5.5 (i) 4 2 3f(x)= x -8x +17 f  (x)=4x -16x=4x(x-2)(x+2)′⇒  
x          -2        0       2 
f      -    0  +     0   -  0     + 
 
ñ!.���f(x�� �.�0��.��3��� #1.�12 � ( ] [ ]- , -2 0,2∞ ∪ ��.��.*� #1.�12 �[ ] [ )-2,0 2,+∪ ∞  
 
(ii) 3 2 2f(x)= x +2x -x-2 f  (x)=3x +4x-1′⇒  

1,2
- 4± 16+12 - 4± 28

x = = = -2± 7
2 2

 

x          -2- 7     -2+ 7  
f       +     0      -     0      + 
ñ!.���f(x��� 0��.��.*� #1.�12 � (- , -2- 7 2 7,+  ∞ ∪ − + ∞   ��.��3��� #1.�12 �

-2- 7,-2+ 7    
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5.6 (iii) f(x)= sin x-x f  (x)=cos x-1 0′⇒ ≤  
ñ!.���f(x�� �.�0��.��3��� #1.� x R∀ ∈  
 

5.7 (i) 
( )3 3 2

2 2 2

x-2 x -6x +12x-18 12x-8
y= = =x-6+

x x x
 

�0/� ��!�1� *�� R-{0} 
���0�.�2 ��"��0��� �0"��������  
ù1*��2&20"��� x=0, y=x-6 
 
  
 
  

 
 
 
 
 
 
 

(ii) 
2(x+6)(x-4)

f(x)=
(x-6)(x+4)

 

�0/� ��!�1� *��� R-{- 4,6} 
���0�.�2 ��"��0��� �0"���������� -6,0), (4,0) 
ù1*��2&20"��� y=2, x= -4, x=6  
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5.7  (iii) 
2

2

2x-x x(2-x)
f(x)= =

(x-3)(x+1)x -2x-3
 

�0/� ��!�1� *��� R-{-1,3} 
���0�.�2 ��"��0��� �0"���������������  
ù1*��2&20"��� x= -1, x=3, y= -1 
 
 
 
 
 
 
 
 
 
 
 
 
 

5.8 (i) 
2 -1

3 32
f(x)=1-x f  (x)= - x

3
′⇒  

�0/� ��!�1� *��� x R∈  
���0�.�2 ��"��0��� �0"����������� -1,0), (1,0) 
	 �x �� 0��.��1��0� �.���.�%�"�.3 *��  
x 0
lim f  (x)=+

−→
′ ∞  

x 0
lim f  (x)= -

+→
′ ∞  

ü��1�"���
x
lim f(x)= -
→±∞

∞  

 
 
 
(ii) f(x)=x-cosx f  (x)=1+sinx f  (x) 0, x R f(x)′ ′⇒ ⇒ ≥ ∀ ∈ ⇒ .*� #1.����  

n
�

f  (x)=0 x = - +2n�� Q =
2

′ ⇒ ∈  

ñ!.�12.�1��0�.� nx ��.��$ #�0�1��0�.��.���"��/�)2��.�)�2������� /0���� !0���.�
�$ #�0�.�!)2.2.� 
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5.9  22y =5(x+1) 5(x+1) 0 x+1 0 x -1⇒ ≥ ⇒ ≥ ⇒ ≥  

ù���x,y�� 0��.��1��0� �2�"��.��*��"� 22y =5(x+1) �2)20���.�)12.1��2 #�.�)�2 �������
�.�0��.���� 2 2 2 5(x+1)

d= x +y = x + , x [-1,+ )
2

∈ ∞  

2

52x+ 2d = 0 12 �>���� �
5x 52 x + +2 2

′ > ∞  

ñ!.���d�0��.��.*� #1.�12 �> -1,+∞ ) ⇒��0��$�12��.�)12.1���.�0��.��12 � x= -1 

2 5(-1+1)d= (-1) + = 1+0=12  

 

5.10  (i) 2
2

2sinx-1
f(x)=2secx-tanx f  (x)=2secx tanx-sec x=

cos x
′⇒  

�2 � �0, 4
 
  : 

�
f  (x)=0 x=

6
′ ⇒  

ò21���$ #�0��� ( ) ( )� �f(0)=2, f = 3, f =2 2-16 4  

[ ] { }

[ ] { }
0, �

�

0, �
�

max f(x)=max 2, 3,2 2-1 2

min f(x)=min 2, 3,2 2-1 3

⇒ =

=  

ñ!.���f(x�� �$0������12 ��� �.��0��$�12 � 3 �12 �/��12��.� �0, 4
 
   

 
(ii)                36-4x, x 2≤                           -4, 3x< 2  

      f(x)=                               f  (x)′⇒ = 

                     34x-6, x 2>                            4, 3x 2>  

H f  (x)′ �/0�� !��02.��12 �x= 3
2 ⇒,.��$0��� �./��)��!�1�� �1��0� �2 � ( )3 ,02 . 

ò21���$ #�0�: ( )3f(-3)=18, f 0, f(3)=62 =  

ñ!.�������12��2����0��.����� �.����0��$�12����  
 
(ii) f(x)= sin(cos x) f  (x)= -sinx cos(cosx)′⇒  

( )f  (x)=0 sinx=0 x=� 12 ����′ ⇒ ⇒  

ò21���$ #�0��� f(0)=sin1, f(�� VLQ���� ��VLQ�� I�� �� VLQ�  
ñ!.��.��$0������12��2���� sin1��.��0��$�12�� sin1−  
 

(iv)  ( )2

1 1
f(x)=1+ f  (x)= - 0, 0,+

x x
x′⇒ < ∀ ∈ ∞  

f(x)⇒ �3��� #1.�12 � ( )0, +∞ ⇒û0���$0��max��.��min 
 
 



5.11                 4x-2, x<1                              4, x<1  
           f(x)=                               f  (x)=′⇒  

                         2x -5x+6, x 1≥                       2x-5, x 1≥  

�2 �/��12��.� 1 7
,

2 2
 
  

�� f  (x)′ ���/0���02.��12 � 5x= 2 �.��/0�� !��02.��12 �x ���.��
0��.��1#�0$�"�12 �x=1). 

ò21���$ #�0��� ( ) ( ) ( )5 7 31 1f =0, f(1)=2, f = - , f =2 2 4 2 4  

ñ!.�2 �����12 �0��.��2 ��� �.��2 �0��$�12 �0��.��2 � 1- 4  

 
5.12  (i���!��&� 2f(x)=x -6 f  (x)=2x′⇒  

2
k k

k+1 k k
k k

f(x ) x -6
x = x - x -

f  (x ) 2x
=

′
 

�.�!� �2."���.�.!$����2���� 0x 2.5 (� # 0��.� � �2� 12 ��= ��$ #�0��  
( )

( )

2

1

2

2

2
2

3 2
2

2
3

4 3
3

2.5 -6
x =2.5- =2.45

2×(2.5)

2.45 -6
x =2.45- = 2.4 494897

2×(2.45)

x -6
x =x - = 2.4494897 43

2x

x -6
x =x - = 2.449489743

2x

��

��������

����������

 

 
(ii���!��&� 3 2f(x)=x -6 f  (x)=3x′⇒  

3
k k

k+1 k k 2
k k

f(x ) x -6
x = x - x -

f  (x ) 3x
=

′
 

�.�!� #�0�.!$����2���� 0x 2= ��.���!�1� #�0��  
3

1 2

2

3

4

5

2 -6
x =2- =1.83333

3×2
x =1.817263545

x =1.817120604

x =1.817120593

x =1.817120593

��

����

�������

���������

 

 
 
 
 
 



5.13  3 2f(x)=x +x -4x+1 
f(x�� 0��.��1#�0$�"�12 �> -1,2]                         
f(x�� 0��.���.!.�&��1����12 �� -1,2)        
f(-1)=f(2)=5 

⇒  ù�)��0+!��.�Rolle c (-1,2)∃ ∈ �2�2 � �+120� f  (c)=0′  

⇒  ( )2 2
1,2

1 3
f (x)=3x +2x-4 3c +2c-4=0 c = -1,2

2
±′ ⇒ ⇒ ∈  

 
5.14  5f(x)=6x -4x+1 

�!��&�: 6 2g(x)=x -2x +x g (x)=f(x) (1)′⇒  
g(x�� 1#�0$�"�12 �>���@  
g(x�� �.!.�&��1����12  (0,1)    ⇒ ( )c 0,1∃ ∈ �2�2 � �+120�g (c)=0 (2)′  �,��Rolle) 
g(0)=g(1)=0 
ù�)���������  c (0,1)⇒ ∃ ∈ �2�2 � �+120�f(c)=0 
 

5.15 (i��ò12&� ( )� �f(x)= tan x �.� �12& \![ �0 [�\ � �2 2∈  

f(x�� 0��.��1#�0$�"�12 �>x,y]  
f(x�� 0��.���.!.�&��1����12 ��x,y) 

ù�)��0+!��.���1�"�	���" ( )c x,y⇒ ∃ ∈ 2�2 � �+120� f(x)-f(y)
f  (c)=

x-y
′  

2 2tanx-tanytan x tan y
= sec (c) =sec (c)

x-y x-y
−⇒ ⇒  

ü�0�/�� ( )2 tan x-tan y � �sec (�� � � � WDQ�[�WDQ�\ [�\ [�\ � �2 2x-y
≥ ∀ ⇒ ≥ ⇒ ≥ ∀ ∈  

,�2 �2."� y= -y tanx+tany x+y⇒ ≥  
 

(ii��
� ��2&�)2����f(x�� ��.� � �0���� 1
f(1)=0, f  (x)=

x
′  

,��&��.�/0��&�)2�� ( )f(x) x-1 x 0,+≤ ∀ ∈ ∞  
+�.�x �� �! 3.�+"��1$*0�� 
ò12&� ( )x 0,1∈ �2)20��  
f(x�� 0��.��1#�0$�"�12 �>x,1]                  ( )c x,1⇒ ∃ ∈ �2�2 � �+120� f(1)-f(x)

f  (c)=
1-x

′  

f(x�� 0��.���.!.�&��1����12 �(x,1)  

( )-f(x) 1
= , c x,1

1-x c
1 -f(x)

c 1 1 1 f(x)<x-1
c 1-x

⇔ ∈

< ⇒ > ⇒ > ⇒
 

�.!)� �.���.� x (1, )∈ +∞ 03.!�)� #�0�2 ��0+!��.���1�"�2���"�12 �/��12��.�>��x] 

( ) f(x)-f(1) 1
c 1, x : f  (c)= = <1

x-1 c
′⇒ ∃ ∈  

ñ!.� f(x)-0<x-1 f(x)<x-1⇒  



5.15 (iii��þ�1#��!2�1�� f(x)= ln x ��.� � �0��2�"�1#����0"�2 #��0&!��.2 "���1�"�
2���"�12 �>x,y], 0<x<y 

ln y- ln x 1
=f  (c)=

y-x c
′⇒ �)� #� ( )c x,y∈  

û��./���� 1 1 1
x<c<y < <

y c x
⇒  

ñ!.��� 1 ln y- ln x 1 x y
1- ln y- ln x< -1

y y-x x y x
< < ⇒ <  

 
5.16���!��&�: 2 2h(x)=f (x)+g (x)  

[ ]h (x)=2f(x)f (x)+2g(x)g (x)=2f(x)f (x)+2f (x) -f(x) 0 x′ ′ ′ ′ ′ = ∀  
2 2h(x) 12.�0!� I �[��J �[� 12.�0!�⇒ ⇒  

 

5.17  
( )2

2

x-1
f(x)=

x +x+1
 

( )2

2

x-1 0 x

x +x+1>0 x

≥ ∀ ∈

∀ ∈

\

\

       f(x) 0 x f(x) 0��.�����2.��02���⇒ ≥ ∀ ∈ ⇒\  

ò$ #�0��)� � !��)�2�.�.1*��2&2���� y=1 

( )
( ) ( )

2 2

2 22 2

2(x-1) x +x+1 -(2x+1)(x-1) 3(x-1)(x+1)
f (x)= = =

x +x+1 x +x+1
′ !  

x          -1         1 
y    +     0     -   0      + 
 
          max        min 
         (-1,4)      (1,0) 

2

2

(-2)
f(-1)= =4

(-1) -1+1
, f(1)=0 

���0�.�2 ��"��0��� �0"���������������  
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5.18  
( ) ( )

( ) ( )
2 2

2 2 22 2

. [ �[�� � .[�E ��[���.[�E .[ ��E[�E��.
y= = y =

x -x-2 x -x-2 x -x-2
y′ ′⇒ ⇒  

õ�&"��� x=1 x=1y 1�.� \  �′=  

.�E
=1 .�E ���

2
-.��E�E��.

=0 3.�E �
4

⇒ ⇒

⇒
         . �� E ���⇒  

ñ!.�20����� x-3
y=

(x-2)(x+1)
 

���0�.�2 ��"��0��� �0"���������  ( )30, 2  

ù1*��2&20"�: x=2, x= -1, y=0   

( )22

-(x-1)(x-5)
y =

x -x-2
′  

x         1         5 
y    -   0    +   0   - 
 
         min    max 

        (1,1)  ( )15, 4  
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 1    2 -1 


